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 = 0.044σ = 1.006 µRebin2: 

 = 0.045σ = 1.005 µNom: 

b_60
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b_61

 rebinningµν

 = 1.000µAsimov, 

 = 0.074σ = 1.012 µRebin: 

 = 0.077σ = 1.018 µRebin2: 

 = 0.081σ = 1.016 µNom: 

b_61



0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.4 1.5
0

20

40

60

80

100

120

140

160

180

200

310×
b_62

 rebinningµν

 = 1.000µAsimov, 

 = 0.045σ = 1.013 µRebin: 

 = 0.045σ = 1.019 µRebin2: 

 = 0.046σ = 1.016 µNom: 
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b_63

 rebinningµν

 = 1.000µAsimov, 

 = 0.057σ = 1.013 µRebin: 

 = 0.060σ = 1.017 µRebin2: 

 = 0.056σ = 1.014 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.066σ = 1.011 µRebin: 

 = 0.071σ = 1.012 µRebin2: 

 = 0.065σ = 1.010 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.063σ = 1.011 µRebin: 

 = 0.066σ = 1.014 µRebin2: 

 = 0.067σ = 1.005 µNom: 

b_65
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 rebinningµν

 = 1.000µAsimov, 

 = 0.043σ = 1.011 µRebin: 

 = 0.044σ = 1.017 µRebin2: 

 = 0.045σ = 1.016 µNom: 

b_66
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b_67

 rebinningµν

 = 1.000µAsimov, 

 = 0.039σ = 1.012 µRebin: 

 = 0.040σ = 1.015 µRebin2: 

 = 0.040σ = 1.015 µNom: 

b_67
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b_68

 rebinningµν

 = 1.000µAsimov, 

 = 0.039σ = 1.012 µRebin: 

 = 0.038σ = 1.015 µRebin2: 

 = 0.039σ = 1.014 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.035σ = 1.011 µRebin: 

 = 0.035σ = 1.013 µRebin2: 

 = 0.036σ = 1.016 µNom: 
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b_70

 rebinningµν

 = 1.000µAsimov, 

 = 0.040σ = 1.007 µRebin: 

 = 0.038σ = 1.010 µRebin2: 

 = 0.039σ = 1.015 µNom: 

b_70
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b_71

 rebinningµν

 = 1.000µAsimov, 

 = 0.040σ = 1.007 µRebin: 

 = 0.039σ = 1.012 µRebin2: 

 = 0.040σ = 1.014 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.058σ = 1.006 µRebin: 

 = 0.057σ = 1.014 µRebin2: 

 = 0.058σ = 1.009 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.056σ = 1.006 µRebin: 

 = 0.055σ = 1.011 µRebin2: 

 = 0.054σ = 1.015 µNom: 

b_73
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 rebinningµν

 = 1.000µAsimov, 

 = 0.115σ = 0.998 µRebin: 

 = 0.111σ = 1.022 µRebin2: 

 = 0.111σ = 1.017 µNom: 

b_74



0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.4 1.5
0

20

40

60

80

100

120

140

310×
b_75

 rebinningµν

 = 1.000µAsimov, 

 = 0.065σ = 1.013 µRebin: 

 = 0.069σ = 1.016 µRebin2: 

 = 0.070σ = 1.015 µNom: 

b_75
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b_76

 rebinningµν

 = 1.000µAsimov, 

 = 0.047σ = 1.015 µRebin: 

 = 0.051σ = 1.018 µRebin2: 

 = 0.048σ = 1.015 µNom: 

b_76
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b_77

 rebinningµν

 = 1.000µAsimov, 

 = 0.043σ = 1.015 µRebin: 

 = 0.043σ = 1.014 µRebin2: 

 = 0.044σ = 1.015 µNom: 

b_77
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b_78

 rebinningµν

 = 1.000µAsimov, 

 = 0.048σ = 1.010 µRebin: 

 = 0.047σ = 1.013 µRebin2: 

 = 0.049σ = 1.011 µNom: 

b_78



0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.4 1.5
0

20

40

60

80

100

120

140

160

180

200

310×
b_79

 rebinningµν

 = 1.000µAsimov, 

 = 0.042σ = 1.011 µRebin: 

 = 0.045σ = 1.006 µRebin2: 

 = 0.044σ = 1.006 µNom: 

b_79
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 rebinningµν

 = 1.000µAsimov, 

 = 0.061σ = 1.012 µRebin: 

 = 0.065σ = 1.020 µRebin2: 

 = 0.068σ = 1.017 µNom: 

b_80
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b_81

 rebinningµν

 = 1.000µAsimov, 

 = 0.048σ = 1.012 µRebin: 

 = 0.049σ = 1.017 µRebin2: 

 = 0.051σ = 1.014 µNom: 

b_81
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b_82

 rebinningµν

 = 1.000µAsimov, 

 = 0.042σ = 1.014 µRebin: 

 = 0.043σ = 1.016 µRebin2: 

 = 0.045σ = 1.014 µNom: 

b_82
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b_83

 rebinningµν

 = 1.000µAsimov, 

 = 0.037σ = 1.014 µRebin: 

 = 0.036σ = 1.016 µRebin2: 

 = 0.038σ = 1.014 µNom: 

b_83
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b_84

 rebinningµν

 = 1.000µAsimov, 

 = 0.052σ = 1.013 µRebin: 

 = 0.052σ = 1.015 µRebin2: 

 = 0.058σ = 1.010 µNom: 

b_84
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b_85

 rebinningµν

 = 1.000µAsimov, 

 = 0.046σ = 1.011 µRebin: 

 = 0.048σ = 1.016 µRebin2: 

 = 0.050σ = 1.009 µNom: 

b_85
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b_86

 rebinningµν

 = 1.000µAsimov, 

 = 0.041σ = 1.008 µRebin: 

 = 0.043σ = 1.011 µRebin2: 

 = 0.046σ = 1.009 µNom: 

b_86
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b_87

 rebinningµν

 = 1.000µAsimov, 

 = 0.046σ = 1.006 µRebin: 

 = 0.044σ = 1.012 µRebin2: 

 = 0.048σ = 1.009 µNom: 

b_87
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b_88

 rebinningµν

 = 1.000µAsimov, 

 = 0.061σ = 1.008 µRebin: 

 = 0.062σ = 1.013 µRebin2: 

 = 0.064σ = 1.012 µNom: 

b_88
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b_89

 rebinningµν

 = 1.000µAsimov, 

 = 0.055σ = 1.008 µRebin: 

 = 0.057σ = 1.012 µRebin2: 

 = 0.062σ = 1.009 µNom: 

b_89
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b_90

 rebinningµν

 = 1.000µAsimov, 

 = 0.095σ = 1.011 µRebin: 

 = 0.100σ = 0.998 µRebin2: 

 = 0.099σ = 1.003 µNom: 

b_90
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b_91

 rebinningµν

 = 1.000µAsimov, 

 = 0.048σ = 1.006 µRebin: 

 = 0.046σ = 1.010 µRebin2: 

 = 0.046σ = 1.015 µNom: 

b_91
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b_92

 rebinningµν

 = 1.000µAsimov, 

 = 0.066σ = 1.003 µRebin: 

 = 0.065σ = 1.011 µRebin2: 

 = 0.064σ = 1.014 µNom: 

b_92
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b_93

 rebinningµν

 = 1.000µAsimov, 

 = 0.049σ = 1.012 µRebin: 

 = 0.051σ = 1.019 µRebin2: 

 = 0.054σ = 1.016 µNom: 

b_93
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b_94

 rebinningµν

 = 1.000µAsimov, 

 = 0.042σ = 1.011 µRebin: 

 = 0.042σ = 1.015 µRebin2: 

 = 0.045σ = 1.014 µNom: 

b_94
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b_95

 rebinningµν

 = 1.000µAsimov, 

 = 0.045σ = 1.009 µRebin: 

 = 0.044σ = 1.015 µRebin2: 

 = 0.047σ = 1.016 µNom: 

b_95
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b_96

 rebinningµν

 = 1.000µAsimov, 

 = 0.040σ = 1.010 µRebin: 

 = 0.040σ = 1.013 µRebin2: 

 = 0.042σ = 1.013 µNom: 

b_96
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b_97

 rebinningµν

 = 1.000µAsimov, 

 = 0.055σ = 1.006 µRebin: 

 = 0.051σ = 1.009 µRebin2: 

 = 0.051σ = 1.015 µNom: 

b_97
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 rebinningµν

 = 1.000µAsimov, 

 = 0.066σ = 1.002 µRebin: 

 = 0.064σ = 1.012 µRebin2: 

 = 0.064σ = 1.014 µNom: 

b_98
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b_99

 rebinningµν

 = 1.000µAsimov, 

 = 0.131σ = 0.999 µRebin: 

 = 0.133σ = 1.026 µRebin2: 

 = 0.133σ = 1.010 µNom: 

b_99



0.7 0.8 0.9 1 1.1 1.2 1.3
0

10000

20000

30000

40000

50000

60000

70000

80000

90000

xsec_0

 rebinningµν

 = 0.958µAsimov, 

 = 0.030σ = 0.948 µRebin: 

 = 0.030σ = 0.947 µRebin2: 

 = 0.030σ = 0.949 µNom: 

xsec_0
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xsec_1

 rebinningµν

 = 1.028µAsimov, 

 = 0.073σ = 1.055 µRebin: 

 = 0.077σ = 1.057 µRebin2: 

 = 0.075σ = 1.049 µNom: 

xsec_1
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 rebinningµν

 = 0.270µAsimov, 

 = 0.216σ = 0.971 µRebin: 

 = 0.210σ = 0.967 µRebin2: 

 = 0.238σ = 0.936 µNom: 

xsec_2
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 rebinningµν

 = 1.000µAsimov, 

 = 0.261σ = 1.033 µRebin: 

 = 0.278σ = 1.034 µRebin2: 

 = 0.270σ = 1.047 µNom: 

xsec_3
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 rebinningµν

 = 1.000µAsimov, 

 = 0.088σ = 1.047 µRebin: 

 = 0.090σ = 1.045 µRebin2: 

 = 0.092σ = 1.045 µNom: 

xsec_4
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 rebinningµν

 = 0.270µAsimov, 

 = 0.298σ = 1.014 µRebin: 

 = 0.289σ = 1.004 µRebin2: 

 = 0.310σ = 0.992 µNom: 

xsec_5
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 rebinningµν

 = 1.000µAsimov, 

 = 0.254σ = 0.988 µRebin: 

 = 0.268σ = 1.010 µRebin2: 

 = 0.259σ = 1.023 µNom: 

xsec_6
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 rebinningµν

 = 1.000µAsimov, 

 = 0.255σ = 1.045 µRebin: 

 = 0.251σ = 1.023 µRebin2: 

 = 0.293σ = 1.061 µNom: 

xsec_7
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 rebinningµν

 = 1.000µAsimov, 

 = 0.053σ = 0.996 µRebin: 

 = 0.052σ = 0.997 µRebin2: 

 = 0.056σ = 0.997 µNom: 

xsec_8
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 rebinningµν

 = 1.000µAsimov, 

 = 0.048σ = 0.998 µRebin: 

 = 0.047σ = 0.998 µRebin2: 

 = 0.050σ = 0.996 µNom: 

xsec_9
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 rebinningµν

 = 1.000µAsimov, 

 = 0.125σ = 1.000 µRebin: 

 = 0.136σ = 0.987 µRebin2: 

 = 0.126σ = 1.007 µNom: 

xsec_10
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 rebinningµν

 = 1.000µAsimov, 

 = 0.029σ = 1.002 µRebin: 

 = 0.030σ = 1.000 µRebin2: 

 = 0.028σ = 1.000 µNom: 

xsec_11
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xsec_12

 rebinningµν

 = 1.000µAsimov, 

 = 0.027σ = 0.998 µRebin: 

 = 0.028σ = 1.001 µRebin2: 

 = 0.027σ = 1.000 µNom: 

xsec_12
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 rebinningµν

 = 0.000µAsimov, 

 = 0.165σ = -0.027 µRebin: 

 = 0.166σ = -0.034 µRebin2: 

 = 0.171σ = -0.039 µNom: 

xsec_13
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 rebinningµν

 = 1.000µAsimov, 

 = 0.228σ = 1.006 µRebin: 

 = 0.224σ = 1.004 µRebin2: 

 = 0.234σ = 0.981 µNom: 

xsec_14
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 rebinningµν

 = 1.000µAsimov, 

 = 0.228σ = 1.006 µRebin: 

 = 0.224σ = 1.004 µRebin2: 

 = 0.234σ = 0.981 µNom: 

xsec_15
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 rebinningµν

 = 1.000µAsimov, 

 = 0.287σ = 1.011 µRebin: 

 = 0.293σ = 1.010 µRebin2: 

 = 0.296σ = 0.992 µNom: 

xsec_16
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 rebinningµν

 = 1.000µAsimov, 

 = 0.641σ = 1.099 µRebin: 

 = 0.643σ = 1.114 µRebin2: 

 = 0.638σ = 1.137 µNom: 

xsec_17
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 rebinningµν

 = 1.000µAsimov, 

 = 0.136σ = 0.993 µRebin: 

 = 0.137σ = 0.988 µRebin2: 

 = 0.145σ = 1.001 µNom: 

xsec_18
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 rebinningµν

 = 1.000µAsimov, 

 = 0.302σ = 0.997 µRebin: 

 = 0.302σ = 1.000 µRebin2: 

 = 0.309σ = 1.001 µNom: 

xsec_19
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 rebinningµν

 = 0.000µAsimov, 

 = 0.133σ = 0.008 µRebin: 

 = 0.136σ = 0.008 µRebin2: 

 = 0.155σ = 0.010 µNom: 

xsec_20
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 rebinningµν

 = 0.000µAsimov, 

 = 0.160σ = -0.008 µRebin: 

 = 0.155σ = -0.005 µRebin2: 

 = 0.182σ = -0.012 µNom: 

xsec_21



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

5000

10000

15000

20000

25000

30000

35000

40000

xsec_22

 rebinningµν

 = 0.000µAsimov, 

 = 0.234σ = 0.006 µRebin: 

 = 0.226σ = 0.011 µRebin2: 

 = 0.266σ = 0.018 µNom: 

xsec_22



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

10000

20000

30000

40000

50000

xsec_23

 rebinningµν

 = 0.000µAsimov, 

 = 0.188σ = 0.056 µRebin: 

 = 0.186σ = 0.052 µRebin2: 

 = 0.212σ = 0.067 µNom: 

xsec_23



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

5000

10000

15000

20000

25000

30000

xsec_24

 rebinningµν

 = 0.000µAsimov, 

 = 0.302σ = 0.063 µRebin: 

 = 0.306σ = 0.073 µRebin2: 

 = 0.328σ = 0.064 µNom: 

xsec_24



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

10000

20000

30000

40000

50000

60000

70000

xsec_25

 rebinningµν

 = 0.000µAsimov, 

 = 0.130σ = 0.003 µRebin: 

 = 0.125σ = 0.006 µRebin2: 

 = 0.148σ = 0.010 µNom: 

xsec_25



Param. no (flux)
0 20 40 60 80 100

0.7

0.8

0.9
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1.1
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1.3

1.4

1.5

(LocalEntry$>20000 && LogL < 5000)

Rebin

Rebin2

Nom.

(LocalEntry$>20000 && LogL < 5000)



Param. no (xsec)
100 105 110 115 120 125

0.5−

0

0.5

1

1.5

2

2.5

Rebin

Rebin2

Nom.

(LocalEntry$>20000 && LogL < 5000)
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